ASSEMBLY
INSTRUCTIONS
DRAWER DRESSER

VA

J 7




Please check all parts and accessories according to the parts list before assembling, make sure all contents are
sufficient and in good condition.

If there is any parts missing or defective, please contact us immediately with this E-mail to get replacement parts.
Email: EnHomee.service@outlook.com

4

X1 @ X1"
8

X1 | X2 |
B

X8 | . M6x25 X6

X12 || M6 X14




HOW TO INSTALL

NOTICE:

@ Do not tighten screws until all of them are in the right position.
@® Please pay attention to the direction of the baffle (the top and bottom are the same, the left and right are opposite.)

/ ~T7~ \
| / N I
/ \ -
=~ |
‘ | W . N ‘
! \ 7 / \
| Rz \ 1 !
| \ Y |
| N ¥ |
| |
| |
| |
| |
| |
| |
| |
| AT 1N |
| / \ PN |
| \ = | / N\ |
| \ 4 / \ |
| 0L ™ \ | |
Lo
| \ N < |
<
| \ ~ 4+ |
| \ N |
\ \ |
| \ \
| N \ |
| \ \ |
| \ N |
| N N |
\ N |
| \ \
| N \ |
| \ \ |
| \ N |
| N N |
| - Tl Phe T~ |
- < - ~ |
| , N . N
| / \ 4 \ |
| , N / \ |
‘ / \ / \ |
| " | " | |
! | | | I |
| ! I |
| \\ / \\ / I
| \ / N / |
7/ /
| N N |
, .
N
| N - S S |
‘ ~__ _ - -~ _ - |
| |
\ /

Si(=jeld Connect part 3 and part 7 with part 8, use part C to screw them

C N

5 Ne N
Mex30 X4 || x1 ]l x1 | X2

| |

|
: The direction of the !
| baffles on the left and |
| |
| |




Sj{z]er2 Install part 5 on part 8, use part C to screw them

Please keep the direction

of baffles on part 5 face

ds.

S
3
Q
5
L
Q
s
o
P4

vs%%s%%

Si(=]ell Connect part 2 to part 3, part 4 to part 5, part 6 to part 7, use part D&F to screw them

The top racks are the same as the

bottoms racks, but the left and right

A

|
|

NOTICE baffles are in an oppostie direction.

@%%e%%

XG/ \

N M6x40

Please fix nut with wrench and
tighten it with hex screwdriver.

A NOTICE:




Sjic]el4 Connect part 9 with part A&F to form two “X” Shape

= = \a
\V/ <=>
= )

M6x12 x2 || ve X2 X4

N

X6 | M6 X6 ' |

A NOTICE:

Please fix nut with wrench and

1
|
|
|
|
|
|
|
| 3
tighten it with hex screwdriver. |
|
|
|
|
|
|







Step8: Drill two holes on a solid wall and insert part J expansion bolt inside the holes, then lock the rack with part J screws

NOTICE:

Electric drill does not included in the box.

)
|

|

ik
3

s N\ [/ N N\ [/ N

E H 10

X12

,,,,,,,,,,,,,,,,,,,,,,




Si(=]e)l05| Put all drawers inside the rack

(€

After—sales Service

Dear Customer,

Thank you so much for purchasing the 12 drawer dresser, we really appreciate your help and support.
Let us know your concerns and thoughts on our products, it is your valuable suggestions that would
help us acquire better improvement.

We are aimed to provide the best product and shopping experience to our customers. We also want to
build a mutually beneficial relationship with our customers, and step further to make our brand reliable,
responsible and recommendable.

We hope that our products could meet your needs and expectations, please consider us again if you
need further products for your home and kitchen. You may also share your ideas with us, we could also
be a listener for your every sudden whim.

The package would be out of our reach during shipping, please contact us with the following email
address let us know if there is anything wrong with the box or contents. We are always here offering
you our help and service.

Email: EnHomee.service@outlook.com

We will reply your Emails within 24 hours, please kindly wait for the response from our professional
service team.

Always remember, we care about your experience.

Sincerely,

Customer Service Team




